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r2 dt
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* 7T &
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1
V I-rCrZ
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B @, =24d,=

Ve, (t) = Ac0s w (t.— to ). Bsin o, (t - t;)
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Ve o 0) =V
Fgt o H i f3(general solution)¥ 7 =
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di
V, =(N?L, + Lout)ﬁ+ M+ Vo (3.19)
Vout = rCCout stC + VC (320)
AN Vour = (iLOLII - Cout ddL) RIoad (321)
t
#-(3.21) 58 % ~ (3.20)58 ¥ AT 15w 48
Ve Rew 1 (3.22)
dt Cout (Rload + rc) ” Cout(RIoad + rc)
di . , , , o
#(3.19)5% = B 3 EHLeni > F(3.22)5 o R
diLout - _ RIzoad rC + RIoad r-L + rC rL iLcm _ - RIoad VC + - 1 Vg (323)
dt (N le + Lout)(RIoad + rC) (N le + Lout)(RIoad + rC) (N le + Lout)
T #(3.22)58 1%~ (3.21) T 18 Ay
Vout — RIoad r.C iLo + RIoad VC (324)
Risas t et = Rigaa #1c
QEECUNE S AR RIS LT
- [i i
X :{ Fou } = Ai[ = } +By =Ax+By, (3.25)
VC VC
Vo =CiX (3.26)
_ RIoad rC + Rload rL + I’C rL _ Rload
2 2
H ¢ — (N le + Lout)(RIoad + rc) (N le + Lout)(RIoad + rC)
He A R o (3.27)
Cout (Rload + rc) Cout (Rload + rc)
1
B, =| (N°L, +L,,) (3.28)
0
IV Cl — RIoad rC RIoad (329)
(Rload + rC) (Rload + rC)
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2. #3840 [(1-dy)Ts - Ts] HEmH
L|k

load

B 3.13. 5 4 $ g

41995 B 3.13 0 194 5 F 5 4 B R(KVL) ~ 7 in(KCL)» 428 7 14 18 3] 1

T}:]J\:@—%,fii\: :

0=L,, Ltl A (3.30)
Vout = IFLCout %4_\/0 (331)
dt
E; 7/\ (I out dc\jlc )Rload (332)
t
#-(3.32) 5% 1%~ (3.31)58 ¢ R AT
dVC — RIoad iL - 1 VC (333)
dt Cout(RIoad + rC) * Cout(RIoad + rc)
di 3 , , . .,
#-(3.30) 3 dj“‘ $IE 1 Bz > T R(3.33)8 ik g R
dil—m __ Rload e + Rload ra+ren T Rload v (334)
dt Lout(Rload + rc) o Lout(RI + rC) ¢
¥ #-(3.33) 38 14 x (3.32) KT 47 2y
Vout — Rload r.C iL + RIoad VC (335)
RIoad + r ™ RIoad + rC
FIob K bk B AR A T S A ehA) 5N
. {'%”“‘ } _ A{ILM } +B,Y, = AX+BY, (3.36)
VC VC
Vout = CZX (337)
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_ Rload rC + I:eload rL + r-C rL _ Rload
Ly, (Rioag +1c) L, (Riaq +1c)
Hd — out \" “oad c out \" Moad c
1o A, R e (3.38)
Cout (Rload + rC) Cout (Rload + rC)
0
B, = M (3.39)
v E Cz — RIoad IFC RIoad (340)
(Rload + rC) (Rload + rC)

FI* FoE Ak g A2 T8

01 AT A A (A & Moded Hl 1 5 B 4 B Tesh E ik )
RN L0 di T #1050 40 (L-dy)Ts > Flet % kg 2 BT 392 - B0 abvr
FHEFp e S AR A T3 d b TS gk i 2 AR5 S 2R e
F AR FE R o LAY REE AP kg TR YR
#/ 17(Laplace) v 4 2 R AT T 2 G~ FHig 2 B oA S

Boo Fp L R LTk R R RN

;<:Ax+ng (341)

=[Ad, + Aj@=d)]x+[Bd, + B,(1-d,)},
% v, =[C,d, +C,(1-d,)]x (3.42)

AR R TR
I BFA R LN AR B A ) MELE

b e - v, =V, +V, (3.43)
X=X +X (3.44)
2 d=D+d (3.45)

BB BT AT A, =V, 4T, 0 R F AR ha e i
T A DNV N R 0 5 R ARG H W T 'FJ»?}iﬁa?J R
RELEF 4 b RS
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v, =V (3.46)

#-(3.43)~(3.46) 5% % ~ (BAL)F ¢ FA TN L HY X AL 0 TALL R o

)°< = AX + ng
~[A (D, +d)+ A, @ (D, +d)[x +%] (3.47)
+ [Bl(Dl + al) + Bz (1_ (Dl + al))l\/g]
SIS
X = AX + BV, + AX +[(A - A,)X + (B, —B,)V, [d + (HOT) (3.48)
# e
A=AD, +A,(1-D,) (3.49)
B=B,D, +B,1-D,) (3.50)

(HOM% 57 % 54 X2 d eh % S afnifent £v5 7 3+ o
A uld (3.27)3% ~ (3.28)5% ~ (3.838):M % (339N A A =A% B, =0 F]pt &

N b RS TR SR

_ (Rload fe + RIoad I’L + rC rL) - RIoad
A — out (Rload + rc) Lout (RITd + rc) (351)
load - S
Cout (Rload + rC) Cout (Rload + rC)
b
B = (N 2I‘Ik + Lout) (352)
0

RIpBA7) R LT &7 &

AX +BV, =0 (3.53)

Bk REES N RE D e e BARREA AT

_ (Rload rC + Rload o+ r-C r-L)(Lout +N 2le) IL Ioad (Lout + N le)V + DlLouth =0 (354)
Rload + rC . Rload + r-C
o AT 8
IL — Dl(RIoad + T )Lout Rload Vc (355)
™ (Rload rc + RIoad rL + rc rL)(Lout + N le - N le D ) (Rload I‘c + Rload r‘L + rc rL)
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Rload >> (rL + I’C)
Flp e LW RBREFRTL DIFET BTG
et 1
i LOUt Lout
A= 1 -1
Cout Cout Rload
A HF AT 4T S
R R
-1 1 CoutRIoad Lout _ Loutcout RIoad Cout RIoad Lout
e+ 1 1 s r+rI+Rload 1 o+,
Lout Cout RIoad Cout Lout Cout I-out
4Rk o iE 2 (352 Fe g A
1
[ I‘out D
0
@ (3.55);V 2 B 5
| =—1 (DV. -V
men)

STk BES VAL D R 2 > HERELA T AT

R
COUI (R

1

load

I,_t—
d +rC) ” Cout(R

C
loa load + I’C)

10 b 1#-(3.54)~(3.57) 5% & » (3.53)¢ & 1)

V,, +V,, =CX +CX+[(C,-C,)X]d

out +
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(3.57)
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#¢ C=CD,+C,(1-D,) (3.64)
$295(3.29) 11 2 (3.40) % ¢

C= Rigaa fc Riad } (3.65)

(Rioad 1) (Rigag +1¢)
F1# (3.63)5% ¥ £ #7F ] WELE ji A IEIBFE T frrv@gl N ERAER B e

7@_}\“’ % 7T F\"

V,, =CX (3.66)

ko BES IV, LB R 255 0 1255(3.53) & » (3.66)5¢ B 48

(3.67)

Fletg ~ 2 gy ARG D RS S lieE d b S BT R A B[ HH(3.58)

7~ (3.59)5% 2 (3.65) 1% ~ F 3N

-1 1
D
Vout — Loutcout Rload |: RIoad rC Rload } Cout Rload I‘out
Vg r + r + Rload (Rload g rC) (Rload + rc) 1 rC +h q"
Cout Lout
_-b
— I-outCout Rload Rload I’C Rload LoutCout Rload
r + r + RIoad (Rload + rC) (Rload + rC) D
LoutCout
_ LoutCout RIoad ( DrC + DRIoad )
rC + r-I + RIoad (Rload +T )Lout out (Rload +T )Lout out
R
- T pip (3.68)
fe + 1 + Rigg

REACNORETEIE &3 - R e bl

V.o = RIoadrc I + RIoad vV (369)

out Lout C
Rload + rC Rload + I’C

¥ (359) Y i FUBLHE B R R A A T W I LR

ﬁi‘\,‘r’%—ﬁ%\lﬂ
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X = AX +[(A - A)X +(B, =B,V Jd (3.70)

i 4 < (Laplace) 4 £ 0 3 = s Lom() Vel®) yy ) e g

d(s)  d(s)
X () = AX(s) + [(A - A)X + (B, - B,)V, [ (5) (3.71)
98 1518
X(s) = ' [(A - A)X + (B, -B,)V, A (5) (3.72)

AL ST R R e R R A SR 1 T M
NRBEA I LG RBETREE Ry >> (L +1)m k™ > #F

A=A = A, (3.73)

i C=C,=C,

“%Twiﬁﬁ%:"mmﬁﬁﬁ&&%ﬁé
Lo =[sl— Al{BV, | (3.74)
d(s)
-1
- ro+1, 1 A
— Lout Lout
B 1 1 Lout 9
— S+ 0
Cout Cout RIoad
1 1
S+
— 1 I‘out Cout Rload
1
sz+s(r' te, 1 ]+ . {rc h +1]
I‘out Cout Rload Loutcout Rload LOUtCOut
— VDC 1+ SRIoad Cout
R
load Loutcout|:32 n ( 1 + . + rLJ_i_ 1 :|
Cout Rload Lout LoutCout
BET G

( ) Vout 1+ SRIoad Cout (375)

d (S) Rload D A(S)/a’o

out
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1 W,
AP AG)=—=5"+—Ls+W," "Wy, =———— > Q=
(s) F 0 0 7 Wo == Q

PRt (3.63) 4 ool LR B 5 E R A R T L P TR
\70ut =CX + [(Cl - CZ)X ]a (376)

A

% 3% (Laplace) i 4 £ 1 45 458 Yo (®)
d, (s)

Vo (8) = CX () +[(C, - C,) X Ja (s) (3.77)

#-(3.80) 5% 1%~ b 5V s @

%£L£W—M“Mﬁ&W+wfmemq4mﬂ (3.78)
S

et 2L FRERR 2 Ry, >>(tr)s s & T > B vk ) }Hi%l 1

TR S E T b

Vou (8) -
S —Clsl <Al - [BV (3.79)
LSS A (e,
-1
- rCL+ r. 1 1
— [rc 1 10ut outl L, V,
- S+ 0
Cout Cout Rload
1+ sr,
_v, 1 ( *Sccomj (3.80)
SZ+S[rI+rC L1 JJ“ 1 (rc+rL +1j L, Cou
Lout Cout RIoad Loutcout RIoad
“V 1+sr.C,,

’ 1 r.+r 1
L., Couls° +s +-C by
C RIoad L L Cout

out out out
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Vout (S) ~ Vout 1+SrCC0ut =V im (381)
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